Sec6.1 Area between curves

| Cut along horizontal direction(each slice is along v. dir.) f: T(x) — B(x)dx
. N e . d
Il Cut along vertical direction(each slice is along h. dir.) [ R(y) — L(y)dy

I'/II' geometric area f;IT(x) — B(x)|dx, fcd|R(y) — L(y)|dy.

egl. Find the area of region bounded above by y = e*, below by y = x, and
bounded on two sides by x = 0 and x = 1.
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eg2. Find the area of the region enclosed y the parabola y = x? and y = 2x — x2.
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eg5. Find the area of the region bounded by the curves y = sinx,y = cos x,
x=0,x=mn/2.
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